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More synthetic Division

* Remember if you are missing a term, you need
to put in a zero for the coefficient
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More synthetic Division

(4x* =175 +14x-3)+(2x-3)
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The Remainder Theorem

If you divide a polynomial P(x) of degree
n = 1 by x — a, then the remainderis P(a).

IS: ’P(as) =0
X-o. is a facter
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The Factor Theorem

Let f (x) be a polynomial.
a. If f(c) =0, then x — cisa factor of f(x).

b. If x — ¢ isafactorof f(x), then f(c) = 0.
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Isx — 2 a factor of x°> — 327

If it is, write P(x) as a product of two factors.
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